Math 111 - Quiz 2 Name: SOLULT LD NS.

(1) [5] Determine an equation of the line containing the point (2, —5) which is parallel to the line
containing the points (2, —9) and (3, —10) .
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(2) [5] Determine the point of intersection of the following pair of lines:
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(3) [5] Items are produced at a cost $0.65 per item and sell for $0.90 per item. The daily operational
overhead is $320. Determine the number of items which must be produced and sold each day in order
to break even.

Lt X = it bbey ﬁ (Cews Pwo&aﬂw(

UM oﬁs;..a _

320 + 0.65 X

C
R

(

i

>0,30 x .

o <R
Ja0o+0.65x = 0-70 %
Oulsx t 3.2.,0

X = 320 = [2%0.
925

e ( 250 C“k@wxj WS'" loa,

Jan 18 2012 p. 20f2



